Quiz #3 Math 260 Name:
10/8/20
Show all your work clearly. No Work, No Credit.

1. Prove or disprove if the following is a subspace of a vector space V. (12pts)
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2. Determine whether the following set is linearly independent or linearly dependent set. (6 pts)
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. Determine whether or not Span(B)=R’ (4pts)
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3. a) Let B= 2 ; 1 ; -1
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b) Let B= {x3 -x3,2x -1, x° +3x—1} . Determine whether f(x)=-3x"+2x’ +15x—2 € Span(B)

(4 pts)
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Determine a basis B of the following subspace S of a vector space V, then expand that basis B to a basis of a
vector space V. (12 pts)
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5. Find a minimal set of vectors of B that spans the same vector space. (8 pts)
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17; eV, fori= 1,2,3,...,n}. Prove that Span(B) is a subspace of V.

6. Let V be a vector space and B = p,;;v,;...v,

(4pts)
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